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L.’y mwn: separating nRnPY NYN on NLa
a. N”r bake it all then designate n9n afterwards (avoiding leavening)
b. &7111 2 place in cold water
c. vy 1. let it become ynn — no prohibition (due to lack of ownership)
i. Possibilities: for background of dispute
1. /8271 n21v: they disagree about the import of the Y87w’s rights to decide which 103 is his beneficiary
a) X”r considered pnn —and Y81w has partial ownership >nx7 52
b) »”: not considered pnn — and Y87w’ has no ownership (after bW NXMP) >no MR Y1 violation
2.5x8177 (and they agree that pop 78 7817 n21v): do we employ the theoretical “since he could have...”
a) ~”7 employs 2’R17; since the Y87’ could retract his designated, considered theoretical mbya >nx» 51
b) »77: doesn’t apply Y& >no reason to consider Nk Ya related to the YR’
II. Tangent re application of Yxwn: dispute ®7on "1/na7 about liability for cooking on 210 oy for Y1n
a. n1”r MpYn, no application of RN (guests arriving on v could have eaten> mn)
b. 727 no mpYn; we apply 2Rin - arrival of guests would have made cooking permissible
i. Challenge 1 to n”. it is permitted to cook on v for naw following v™»
1.Answer: n"nn it is permissible, the 13297 MR is circumvented via P wan vy
ii. Challenge2 to n”. \mn to slaughter endangered animal on v"v if there’s time to eat n12 (need not be eaten — »xn)
1. Answer: since he can only save it by eating some, he intends to eat n>r>
iii. Challenge3 to n”7. ©19n ©NY may not be baked on v (V:X? Mnan)
1. Assumption: no WTpnN1 Mav->preparing from 0" to NIV is n”nN NOK
2.Rejection: there is wTpna maw when the use is “distant” (npIN7 Maw)
3.Note: 3"aw" records tradition of baking n29n bnY on v — perhaps they disagree about npny maw
a) Challenge (that preparing naw v’ is maw -»19 ’7): oNYn 'NY may not be baked on v itself (v:x> MNn)
i. If: baking cannot be done for that same day, 1"p that it may not be done from v" to naw
ii. Answer:na9(v. 1) defines permissible wa1 921 (not nav)before m'w1s nvnw, bread is inaccessible 3%
iii. 172w7. DNYN MY are baked on V"V, as he accepts 1IRY Rar (D3 only excludes 023, not May)
iv. Challenge (to 727): 0:3 man lists “maximum mp9n” for plowing a furrow -8
1. o’857. ox with a donkey
2.71532 A73y. if the M had qun nwrTp
3.75%wp: if the 7mn had ot nwITP
4. 07977 ’857. he was plowing in a mixed vineyard
5.7707p®. he was plowing on nvonw
6.210 oy violation of naxyn of w1
a) But if: we employ Y&, shouldn’t he be exempt for w1, since dirt could have been used for oTn "o
b) Answer: it's unusable for DTn ", as it is muddy dirt although still plowable
7.j7135 np nxmv. if he was a 102 and it was a cemetery
8. 115 np nxmv: if he was a 1m and he was plowing in a nyapn na
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